Mathematics 2014 Class XIl (Odisha Board)

THE CANDIDATES SHALL TAKE THIS QUESTION BOOKLET (PART - I) AFTER
THE EXAMINATION OF THIS SUBJECT IS OVER AND HANDOVER THE OMR
ANSWER SHEET TO THE INVIGILATOR WHEN INSTRUCTED.
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INSTRUCTIONS 3

This guestion booklet contains 50 (fifty)
Multiple Choice Questions (MCQ).

Each guestion has four (4) answer choices,
out of which only one is comect.

Select the correct answer and darken the
appropriate circle completely in OMR sheet
with Blue/Black ball point pen only. Darken
only one circle and darkening two or more
cirdes shall lead to rejection of the answer.
Partial / incomplete darkened circles shall
not be evaluated by the computer.

The OMR answer sheets shall be evaluated
by the computer.

In case the OMR sheet is stained, torn,
crumpled, mutilated, distorted, not properly
printed in any manner or otherwise appears
defective, the same shall be returned imme-
diately to the invigilator and another correct
OMR. sheet be obtained.

Werify carefully whether the No. of printed
pages, Mo. of questions, Set code etc. printed
on the cover page matched with this booklet.
In case of any defect/discrepancy, exchange
the defective one immediately to obtain
another correct question booklet.

Write your Roll Mo. in the space provided. Do
not write/scribble anything on any part of this
booklet except the space provided for doing
the rough work.

Discipline must be maintained in the
examination hall as per the provisions of the
Odisha Conduct of Examination Act, 1988.
Mo candidate shall be allowed to leave the
examination hall before the examination is
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In this Part 50 questions are given. Each question has four alternative
answers. Choose the correct answer from them and darken the

appropriate circle completely in the OMR Sheet with
the Blue/Black ball point pen.

GEeYe gga gmy 1 866 |
Each question carries 1 mark.

g 9ga K6 9 |
Answer all questions.

1. 9x+y+12=099" 18x + ky + 24 = 0 9% dFIQQE QL QG (3 aalatallal
696m K 6l F19 6@6E ?

Ifthe simultaneous equations 9x+y+12=0and 18x +ky + 24 =0 are
consistent and dependent, then what is the value ofk ?

(A) -1 (B) +1

(C) +2 (D) -2
2. [ ofiqaq gny 6x6e 7

What is the value of the following determinant ?

2 —1
3 2

(A)
(C)

B) -7
(D) —4

o~

QT @0l 919 (SPACE FOR ROUGH WORK)



3x+ 4y =10 8 2x— 2y = 3 Q2 ARG QL JEXEL JAINEQ AARIIL ¥R
dIn Q'8 Q9 ?
What is to be done for solving the simultaneous equations 3x +4y =10
and 2x — 2y = 3 by the method of substitution ?
(A) Qa6 AMeedq 2 QIAl 8 §19q 3 QA IR @9
Multiply the first equation by 2 and the second one by 3
(B) Qaagg x a A 2da 9@ o1956 6AYS
Determine the value of x from the first one and write it in the second
one
(C) Wi ANGAE] JacIg F6AIT @RS
Subtract the second one from the first one
(D) @ug dMeedq AdIae
Add both the equations together

X +y=00x—y=092 91994 L JIT 2T 96m 696 5969 LG 689
QRED ?

What is the point of intersection of the simultaneous equationsx +y=0
and x —y =0 on a graph paper ?

(A) (0,1) (B) (1,0)

) (1,1) (D) (0,0)

651G QEIG AAIRAER JReaq A G gEITe QelIRed 4 6 —g | ARSI

e@Ee ?

The sum and product of the roots of a quadratic equation are 4 and —g

respectively. What is the equation ?
(A) 2x2+8x+5=0 (B) 2x2-8x+5=0
(C) 2x*°+8x—-5=0 (D) 2x*-8x-5=0

QT @691 217 (SPACE FOR ROUGH WORK)



'\J’;*' X=6q 4@ QG AMPASER gdoldl @6n 6@6e 6v9 7

Whatis +/x +x=6when expressed as a quadratic equation ?
(A) x*—13x+36=0 (B) x*+13x+36=0
(C) x2+12x+36=0 (D) x2—12x+36=0

2x° + kx + 3 = 0 9190860 kQ Q19 666 626m ] @fﬁ@ Q9e G 4
669 ?

What should be the value of k show that the roots of the equation 2x* + kx
+3=0arereal and equal ?

(A) 46 B) 246
(C) V6 (D) ?

665 219 99Q 6G4Y g90Iq 8 64.7. 9@ B 92Ia 698TR 240 od 62.4.1
2196 099 636 8 g9 Rdg GaQ QI FETIB ATNRAE F1g 696T gIey ?

The length of a rectangle is greater than its breadth by 8 cm and its area
is 240 sq. cm. Which of the following equations is applicable to find its

sides ?
(A) x° +16x = 240 (B) 2x° —8x =240
(C) 2x% +16x =480 (D) 2x% + 8x =480

CORNG 2Q9F FrIG 69RT AFIRA JOBEa 0@ 7
Which one of the following series is not in Arithmetic progression ?
(A) 1,2,3,4,5,.. B) =77 7 -

(C) 1.1,2.3,3.5,4.7, ... (D) -3,-1,0,2,4, ...



10. 60T QRIS gOGa gaa a9 —3 8 QRIS 2eq 2 626w, 1Ia gae 118

1.

12.

13.

J9Q A8 6QER ?

The first term of an arithmetic progression is —3 and common
difference is 2. Whatis the sum of its first 11 terms ?

(A) 154 (B) 77

(C) 44 (D) 20
(a+b),x6 (a—b)A.Psa 26m x Q 719 6068 ?

If (a+ b), xand (a—b) are in A.P. What is the value of x ?
(A) 2a (B) a

(C) b (D) 2b

AFI2Q YOBER 2Ll 691TN ARea 8 99 4 6 668 U 76 | a6Q G6RIT
Cel@ alem, oLl ARG 6a60 7

The first term of a series in arithmetic progression is 4 and last term is
76. In between them there are three arithmetic means. What is the
second arithmetic mean ?

(A) 18 (B) 22

(C) b (D) 40

601IEN QQIg 30 2a 69 @091g ‘H' 6966 2Q 21Aa ‘T 216 QRS 2R 2R |
P(T) @ gmy 6@66 ?

Acoinwas tossed 30 times. The number of times ‘T" appeared was twice

the number of times ‘H' appeared. What is the value of P(T) ?
(A) 20 (B) 10

W=

2
©) 3 (D)



14.

15.

16.

60T @QI6Q 55 @8 Aad, 35 25 9ed 6 4G AQ8 dad &8 | 692g Qg
66N €191 QOIGER 6815 U914 dad JIRSIe ARG 6Q63 ?

There are 5, 10 paise coins, 3, 25 paise coins and 4, 50 paise coins in a
box. If one of these coins is lifted at random, then what is the probability
of getting a 50 paise coin ?

1

A (B)

—

(C) (D)

NNy Y
w|l= ;o=

- wr

6OIGN Q@ealcy 26a G2l gl | 9@ E ag8iE “‘ae 99 g9 @y’ 9,
6669 E 99415 9FQI9 ARIUGI 6966 7

A ludo die was thrown once. If the event E indicates “result is an even
number” then what is the probability of occurrence of the eventE ?
(A) (B)

(C) (D)

WM W=

665N REETITE YR LRGSR 1 92! QA 9°HYl QE5'A G 6 JIR9Ia
ARG DEEE ?

Aludodie was thrown twice. What is the probability of getting the sum of
the numbersas 6 ?
(A) (B)

(C) (D)

w|l= o,
(9% w| M
cn|‘-" |



17.

18.

19.

8,9,6,7, x4 QRIAIFE FUAIS 6.5 696m X Q F1IF 666 7

Ifthe mean of the scores 8, 5,6, 7, xand 4 is 6.5, then what s the value

of x?
(A) 9 (B) 10
(C) M (D) 12

gan 109 Q€e Q°SuIa F1RI1, Jae 98 F€e QoS FIRIFI0Ig 6R66 6461 7

By how much the median of the first 10 counting numbers is greater than
the median of the first 9 counting numbers ?

(A) 0 (B) 05
(C) 1 (D) 1.5

P19 (g 6RE 9099 Gdo KG9l QIR 0] 98 ?

Which one of the following is the correct formula for finding mode ?

AN + A
(A) Q¥ =
2
Mode = Mean +2Med|an

(B) Q@@ =2 qael — 3 ArIAIG
Mode =2 Median -3 Mean
(C) Q@@ =3 qaeal — 2 QRIAIG
Mode = 3 Median -2 Mean
(D) QG|e =2 (aual — Q1IAIe)

Mode = 2 (Median — Mean)



21.

20. 3¢ ARIFFIAwE J8w 6@ET ?

What is the mode of the following scores ?
56,7,7,8,9,9,9,10,10, 11,12, 12,12

(A) 9899 ql% (No mode)

(B) 9

(C) 12

(D) @9 9612 (Both9and 12)

n n

X s X0 Xy ooy X, QERIEIGM 2168 1Y (x,—5)=60 9 Y (x,—8)=24 626,
i=1 i=1

NG FIQ 6166 ? | |

n
The mean of the scores x,, X,, X, ..., X_is M. If Z(Xi—5):6[] and
i=1

n
Y (x,—8)=24, then what is the value of n ?
1

(A) S (B) 8
(C) 10 (D) 12

22. Qo 99 A 6 Ba 219w Q2Iges (=1, =2) 6 (5, —2) | 6QAIew 71168 Q06!

@6 7

The co-ordinates of two points A and B are (-1, —2) and (5, —2)
respectively. What is the distance between them ?

(A) 6 (B) 4+/2
(C) 4 D) 342



23.

24.

25.

26.

AABCQ A, B Clgqieaa dieis Q21g6¢ (1,2), (2,4) 6 (3,5) | AD 9@
&l 62em D 999 Qe 6960 7
The co-ordinates of the points A, B, C of the AABC are (1, 2), (2,4) and

(3, 5) respectively. If AD is a medianthen what is the co-ordinates of the

pointD ?
(A) (5,9) (B) (2.5,4.5)
(C) (1.5,3) (D) (2,3.5)

6615 6QHIHER f1eRa AIRIE (0,0) 1 9919 99 918959 2191 (2, 3) | 26y
JI20Ka dIRls @60 ?

The co-ordinates of the mid-point of a line-segment is (0, 0). The co-
ordinates of one of the end-pointis (2, 3). What is the co-ordinates of the
other end-point ?

(A) (=3,-2) (B) (=2,-3)

C) (2,3) (D) 3. 2)

(2, 10),(2,5) 8 (a, —2) 9999 99 dARCAHIER 29EG 1a @ FIR 6@66 ?
The three points (2, 10), (2, 5) and (a, —2) are in one straight line. What
is the value ofa ?

(A) O (B) 2
(C) 3 (D) -2
_ . 4
A QE)QQSQPQHBCIAP=?AB,QC=1.BGmI
AC @ 6264 6060 69.4. 2
P Q 4
Inthe given figure PQ || BC . AP = ?AB, QC=1.8
& C cm.Whatis the length of AC incm ?
(A) 24 (B) 3.6

(C) 42 (D) 5.4



27. A

PR ogea msZBAD=m~2CAD | AABD @ AACD®
ERGTRA 2AQYIE @12 A6t AAG ?

In the given figure m £ZBAD = m £ CAD. Ratio of the
areas of the AABD and AACD is equal to which

B D C one of the following ?
(A) AC:AB (B) AB:DC
(C) BD:AC (D) AB:AC
28. P @8 egea APQR~ AQRS Im£ZPQR=50°,m£QSR
=100° Im £ZPRS = 6@6% ?
S
In the given figure APQR~ AQRS.m £PQR =507,
Q R m QSR =100°. Whatis the measure of Z/PRS ?
(A) 70° (B) 80°
(C) 90° (D) 100°
29. A @8 068 XY ||BC 68 AX:XB=2:31 AAXY G
G1aGee] XYCB @ 6890raa 29016 6066 7
X Y
In the given figure XY ||BC and AX : XB=2: 3.
: & What is the ratio of the areas of AAXY and trape-
zium XYCB?
A 2 8y -+
(A) 55 B) 21
c) = D) =
© 3 D) 3



30.

31.

32.

33.

AABCea msA =90° 9 AD L BC | BD=2¢a.8. 8 BC =8 ¢ca.d.
c@6m, AB = 6960 62.81. ?

In AABC, m~A =90° and AD 1 BC. If BD =2 c¢m and BC = 8 cm,

then what is the length of AB incm ?

(A) 243 (B) 32

(C) 4 (D) 443

691150 QSIS ATRIR 6R66T AE UIQAIR 6RINAIRS ?

Aline segment can be a radius of how many circles in the maxium ?
(A) 1 (B) 2

(C) 3 (D) 4

0@ 9960 O 988 625 8 MAEB = 100° I m £BDC
6966 ?

In the given figure O is the centre and mAEB
100°. What is the measure of ZBDC ?

(A) 40° (B) 50°
(C) 60° (D) 80°

6615 GAC F9E9 J664e QI8 YRR 989RR AGRI0IER e @92le! 6R189
AR 6R6G ?

What is the measure of the angle subtended by each side of a regular
hexagon at the circumference of its circum-circle 7

(A) 120° (B) 90°
(C) e0° (D) 30°



34.

35.

37.

6015 90 99 QY YRR 69560 90° 6Q1d QYR Q6A | AE AL 8 A
6RENQ QUG 66T ?

A chord of a circle subtends a right angle atits centre. What is the ratio
of the lengths of the radius of the circle and the chord ?

(A) 2:1 B) 1:2
(C) 2 :1 D) 1:42
Q00 9E3Q41 98 g5 ATRS 66T ARG R USR FAULAIRARS ?

In the maximum how many common tangents can be drawn to two
externally tangent circles ?

(A) 1 (B) 2

(C) 3 (D) 4

Q& 0960 0 98 605 45° BA Q4@ &€ ImZACB =
110° 626@, m £ CAB = 626G ?

In the given figure O is the centre of the circle and

BA isatangent-segment. If m #ZACB = 110°, what
is the measure of ZCAB 7

(A) 20° (B) 30°
(C) 55° (D) 70°
c @@ 5560 O 999 @5 | OA ||BC 9%° OC || AB

/ 626m, mZC = 6966 ?

B
\ In the given figure O is the centre of the circle. If
A OA || BC and OC || AB, then what is the measure

of LC?
(A) 30° (B) 40°

(C) 50° (D) 60°



38.

39.

40.

41.

Q8 0gen OA=8642.01., OP = 17 64.41. 1 O Qa0 694
A 626m, P G99 98 97 28¢ 24@ ¢9q R4y 6R6Q
6Q.71. 7

o P Inthe given figure OA=8cm,OP=17cm.IfO is
the centre of the circle then what is the length of the
tangent segment drawn from P to the circle incm ?

(A) 8 (B) 15
(C) 17 (D) 25
A Q8 0968 PA G PB @49 ¢& | m £ PAB = 6966 ?

“b’ In the given figure PA and PB are tangent-

segments. What is the measure of £LPAB?
(A) 40° (B) 50°
(C) 65° (D) 75°

200 980 A0y 22Q 88 64.8. 6 6ANIPEA QUIAIE QOa AT 78 6a.4.
Q2RQ 98Q QYR 6960 62.71. ?

The difference of the circumferences of two circles is 88 cm and the sum
of their radiiis 76 cm. What is the radius of the bigger circle in cm ?
(A) 92 (B) 83

(C) 46 (D) 32

Qa5 99-6959 9RIQ QUIA QaIGEF 3262.8. @ 18 62.4. | aRQA TF 2249
JIfe AT 6960 @6 64.4. ?

The diameters of two concentric circles are 32 cm and 18 cm. What is
the area of the space included by their circumferences insg. cm ?

(A) 550 (B) 1100

(C) 1650 (D) 2200



42.

43.

45.

6615\ G900 9F 99 ANEREN ANFAIZ TYR | 92IQ 9a 6By 82 ca.d. |
Jena a26! 10 6Q.71. 626, Y2I1Q 26 6@66 Qe 62.8. ?

The base of a prism is a right angled isosceles triangle whose
hypotenuse is 842 cm. If the height of the prism is 10 cm, what is the
volume in cubiccm ?

(A) 1280 (B) 64042

(C) 640 (D) 320

6OIGN 6RI00 ARGl 6010 dREaa o0l A6 ARIe ¥e° (AR 2IeR
QAR | 6RIRG MIY G ARNVAQ NIAR 2IGUIP 6REE 7

The height of a cone is equal to the height of a cylinder and their volumes
are equal. What s the ratio of the diameters of the cone and cylinder ?

(A) 243 :1 B) J3:1
(C) 1:43 (D) 1:243

RG ANARA AFIY YIGRA 6AGTIA 2R 1050 Q¢ 6.5, | 6AAINTE AL
sl 2gale 4 : 3 €26, 9ER0 dAUaG QLA cady 6960 6a.8. ?

The difference of the total surface areas of two cubes is 1050 sq. cm.
The ratio of the lengths of their sides is 4 : 3. What is the length of the
side ofthe bigger cube in cm ?

(A) 15 (B) 20

(C) 10 (D) 7.5

66115 60INGA 2IAER 6U6@ A7 64.98. GIRIQ JIGRA CAGTR 690 96 62.41.
626M, 60lNPG I 660 64.5. ?

The volume of a sphere in cubic cm is equal to its surface area in square
cm. What is the diameter of the sphereincm ?

(A) 8 (B) 6

(C) 4 (D) 3
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46. sinA= 13 6@6m, COtA Q 7R 6@EG ?

12
If sinA = —,whatis the value of cotA ?

5 s 12
A 5 B) +
o 5 o 17

47. sin120° +tan150°-c0s135° Q R 6@ER 7
What is the value of sin120° + tan 150" -cos135° ?

23 2.3
(A) 3+42 (B) 3-42
3-42 3442
(C) 203 (D) Na

48. sec?(90° + 6) — cot?(180° — B)a AIF 6R6E ?
What is the value of sec?(90° + §) — cot?(180°—8) ?
(A) 0 (B) 1
1

(€) -1 (D) -5

49, tanA =% G cotB=3¢cwem, A+Ba AT 6960 ?
IftanA = l and cotB =3, whatisthe valueof A+B?
(A) 120° (B) 60°
(C) 45° (D) 30°
50. tan1® xtan2® xtan3® x ... x tan88° xtan89° = em@se ?
tan1® x tan2® x tan3® x ... x tan88° x tan89° = How much ?

(A) (B) 1

t &~

(C) (D) —1



